

# ROMANIAN MATHEMATICAL MAGAZINE

Prove that:

$$I = \int_0^1 \int_0^1 \int_0^1 \sum_{x,y,z} \sqrt{\frac{\sqrt{x}}{\sqrt{y} + \sqrt{z}}} dx dy dz = \frac{128}{35} (2 - \sqrt{2})$$

Proposed by Ankush Kumar Parcha-India

Solution by Togrul Ehmedov-Azerbaijan

$$\begin{aligned} I &= \int_0^1 \int_0^1 \int_0^1 \left\{ \sqrt{\frac{\sqrt{x}}{\sqrt{y} + \sqrt{z}}} + \sqrt{\frac{\sqrt{y}}{\sqrt{x} + \sqrt{z}}} + \sqrt{\frac{\sqrt{z}}{\sqrt{x} + \sqrt{y}}} \right\} dx dy dz \\ &= \int_0^1 \int_0^1 \int_0^1 \sqrt{\frac{\sqrt{x}}{\sqrt{y} + \sqrt{z}}} dx dy dz + \int_0^1 \int_0^1 \int_0^1 \sqrt{\frac{\sqrt{y}}{\sqrt{x} + \sqrt{z}}} dx dy dz \\ &\quad + \int_0^1 \int_0^1 \int_0^1 \sqrt{\frac{\sqrt{z}}{\sqrt{x} + \sqrt{y}}} dx dy dz = 3 \int_0^1 \int_0^1 \int_0^1 \sqrt{\frac{\sqrt{x}}{\sqrt{y} + \sqrt{z}}} dx dy dz \\ &= \frac{12}{5} \int_0^1 \int_0^1 \frac{1}{\sqrt{\sqrt{y} + \sqrt{z}}} dy dz \end{aligned}$$

$$\text{Let } \sqrt{\sqrt{y} + \sqrt{z}} = t$$

$$\begin{aligned} I &= \frac{12}{5} \int_0^1 \int_{\sqrt{\sqrt{z}}}^{\sqrt{1+\sqrt{z}}} (4t^2 - 4\sqrt{z}) dt dz = \frac{48}{5} \int_0^1 \int_{\sqrt{\sqrt{z}}}^{\sqrt{1+\sqrt{z}}} t^2 dt dz - \frac{48}{5} \int_0^1 \int_{\sqrt{\sqrt{z}}}^{\sqrt{1+\sqrt{z}}} \sqrt{z} dt dz \\ &= \frac{48}{5} \left\{ \frac{16\sqrt{2} - 4}{35} \right\} - \frac{48}{5} \left\{ \frac{88\sqrt{2} - 92}{105} \right\} = \frac{128}{35} (2 - \sqrt{2}) \end{aligned}$$